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Which type of education would be
appropriate for socially deprived
children ?

1) Informal education

2) Special education

3) Inclusive t\education

4) Religiou%éducation
v
N1
\ . .
Witteheof theﬁfopllomng statement is
corréct regarding adolescence,
urider Erikson's Psycho-social
development theory ?
1) Ego-identity is a positive
psycho-social aspect.
2) Ego-identity is a negative
psycho-social aspect.
3) Ego-idenlgty is a neutral
psycho-sg}\cial aspect.
4) Ego-iderifity is not just a
psycho_-sgcial aspect.

Which of the following characteristic
is not seen in a creative child ?

1) Divergent thinking
2) Extreme curiosity
3) High imaginations
4) Conventional thoughts
P.T.O.
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4. Which of the following characteristics

does not have a positive effect on the

process of socialization ?

1) Socially approved behaviour
2) Playing approved social roles

3) Development of social attitude

4) Development of social

prejudices

5. Vygotsky's 'Zone of Proximal

Development' refers to :

1) t % the child

@pendently
gﬁv'hat the child cant do

@ ¢ indepéndently

3) What the child can do with

guidance of knowledgeable
person

can do

4) What the child can't do even
under guidance of
knowledgeable person

6. If a learner does not achieved the
expected performance, what type

of testing is done to find out the
reason ?

1) Formative )
l&\& ’

2) Diagnostic

3) Remedial

4) Summative
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7. "Inclusion is not confined to the
disabled but it also mean no
exclusion of any child."

This meaning of inclusion in
education has been clarified by :

1) NCF 2008
2) (NCERT
(00)

3) YNESCO
4) JBNICEF
X

8. Which type of changes occur in
growth development ?

(a) nge in body size

) ange in body proportion
QDisappearance of old features

(@) T RadwaneT @ e @ (d) Acquisition of new features
7el T W TG HOTC 0@ Chagse the correct code :
N
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9. Which of the following statements
does not explain the positive
impact of motivation on learning ?

1) Motivation
behaviour
oo}

impairs learning
( . . . . .

2) Motivation provide definite
\%‘irection to learning behaviour

3) Motivation energizes learning

behaviour
4) Motivation makes learning

behav1our selective |
; P.T.O.
-J'-
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10. Match the stages of morality with

their level, under the Moral
Development theory of Kohlberg :
Stages of Morality Level of

IMorality

(a) Good interpersonal I

relations

(b) Individualism and II
exchange

(c) Social contracts and 111
individyal rights

(d) Universalprinciples

Choos@ orrect code :

Code :

| g ® © @
@ I m 1 I _

| @z) m o mI
\ 3) I m 1 I

4 1 mIm

11. When the learner learns-a task
automatically, without any desire
or purpose, then it is called :
1) Massed learning
2) Whole learning L

. 3) Partlearning 2t
4) Incidental learning

12. Which of the following statement is

not true re'ga;ding biological
motives ?

1) They are universal

2) They are inborn

3)
4)

They are essential to survival
They are not related with
homeostatis in the individual

Telegram: t.me/pgtprime



JI-I" '
g ' [7/A]

13. FfoRed # @ f-@ gl woa 13. Which  of the following
AR = TlHT B AU § P examinations are the basis of
continuous and comprehensive

‘ evaluation ?

(a) foRam § (a) Writterr
(b) AiREH E"‘; (b) Oral.
(c) =R a (c) Behavioural
(@) g (d) Practical
7el R B T FHiQ 3  Choose the correct code :
g Code : @
) (@, ®) Qﬁgl\f(d) : 1) (a)@ (@)
2) (@ ®) T 2 @ & ©
3 @, (@ @ @) ®.© & @

4) (a), (b), () T (q) R @) (@), (0), (0) & ()

14. fy=fofag & @ @d9-T1 o K 14. Which of the following statement is

| gy % Hed § @6l 78 % . not correct in reference to
_ % intelligence tests ?
/Y{ TaeieY d O @ T 1) Alexander's Pass along test is a
Feare gdteror B performance test.
2) qfeEd  gderr aﬂﬁﬂ% HIA 2) Verbal test can be either
- Al A IR % & R e individual or group.
3) afarfer aqf%i' ﬁmﬁﬂ Wﬁ&T"T ;Tﬁ 3) Illiterate people cannot do
HY Tl S} performance test. .
< , : . ;
$4) e 4 gig & Ao 4) In non-verbal tests intelligence
eI &R B Bl . is measured through pictures
and figures.

P.T.O.

rvel-S[‘1311] Jungr

)

Telegram: t.me/pgtprime



o I
[S/A]ﬁ

ARE @

15. Prefema & @ - 30 2

fsrmg@w%mg@@

T g o 3

7 B 7

%%(ﬁq M

%g;mé Jd

2§ e wfsa

3) Hedidd GIER

4) wdy CERELS|

16. fiifed & & @m-@ o Bfea

1QW@@%%W»
2) Tl {3 qn 0

3) WWQ
4) gad R afdg

17. 9950 %'Gﬁﬁm ST Wy gy

BT SRy g ¥
1%313%11:{1@5 iy
¥ SRS S
3) SRONHH Wiy
4) TS Sy
[ Level-3,{13]1]

Which of the following pair ls,,

15. ‘}
correct regarding elemeng
intelligence and their dimensié
under the Three Dimeng;q
Intelligence theory of Guilford 7
Elements of Dimensjg,
Intelligence

i 1) Umt. Product
2) Cognition Operatioy
3) Ev tion ~ Operation

AN
4) tions * Content

11.

{
!
{
|

1®Which one of the following is notapl

ST g # ggE fdwar 78

of child
learning approach ?

key feature centre

1) Meaningful

opportunities
2) Single learning pathway
3) Continuous assessment

4) Accessible learning settings

According to Bandura, which is not |
the -interrelated processes of -

observational learning ?
1) Attentional Processes g

2) Retentiona)l Processes

3) Motivationg] Processes

4) Conjunctional Processes

lg_grning;
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Bccording to Bandura's Social

Learning theory, what is it called
when a person learns the same
behaviourg by observing . and
repeating 3b behaviour of others ?
1) Adaptafion

2) Self-o¥¥ervation

3) Modeling

4) Efficacy expectation

Which sub-component is nof included
in componential intelligence under

the Sternberg Triarchic Theory ?

@

21.

1) Metangcomponent
2) imental component
3) rfgt;hnce component

@ owledge acquisition component
st \

A learningﬁisability that affects the
acquisition of arithmetical skill is :
1) Dyécalculia 2) Dysgraphia
3) Dyslexia 4) Dysmagnisia

Choose the correct éequence of

the five stages of Freud's Psycho-

sexual development theory :

1) Oral stage — Phallic stage —
Latengyystage — Anal stage —
Gem’taff}tage '

2) Anal stage — Latency stage —
Phallic;%tage — Genital stage
— Oral stage

3) Oral stage — Anal stage —
Phallic stage — Latency stage
— Genital stage *

4) Latency stage — Anal stage —
Oral stage — Genital stage —
Phallic stage

e P.T.O.
»
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23.

o

B
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22. According to Pavlov's Classical

Conditioning theory of learning,
which temporal sequence
presentatiox"g of natural
conditionedﬁtimuli will most affect
learning ?

1) Simultaneous
2) Delay
3) Trace
[\
4) Backw
23. | Inw of Piaget's Cognitive

velopmerit theory does the
ability of abstract thinking and

2
&eneralization develop ?

and |

1)

2)
3)

4)

9
{

Sensory motor
Pre-operational
Concrete-operational

Formal operational

24.

yfreTetl fereniar dnfore e
F q H-ar Aty e &7 w A
TRy ?

h
. o0
24. Which of théfollowing educational

arrangemerﬁ% shouldn't be made
for 'talented\é?udents ?

1) Opportunities for independent

1) s deige B & HIET

2) @
_8) SUETh [
4) Hada HEET

[ Level-3/1311]

2)
3)

4)

project work
Acceleration
Remedial teaching

Enrichment pProgram
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25. Which one of the following is not a
principle of inclusive education ?

1) Principle of segregation
~ 2) Principle of cooperation
3) Principle of celebrating diversity

4) Principle of right to education

26. Which of the following way does

not support the teaching according
to individual differences ?

1) Lar p of students
2) @)éualized instruction
Curriculum adaptation

) Knowledge of student's abilities

Which is not a role of educational
institutions in addressing the needs
of children with special'need ?

1) Admission to school without
discrimination

2) Provide accessible

infrastructural facilities

3) Identify their special needs

and exclude them from
mainstreaming

4) Provide necessary support
services

P.T.O.
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30.

Which of th&ollowing statement is
o)

i text of
not corregy in  con

developmer@

maturation and learning.

2) Later development is more

critical than early development.
3) Development proceeds from
head to foot.
4) Development proceeds from
central a[;\gjs to extremities.

The r@@enﬁonal model of

thi incfusive education
r@mded by whom ?

Gartuer and Lipsky

.

- é Griffith, Cooper and Ringlaben
2)
3)

Kauffman and Hallahan

4) Levenski, Davis and Hooper

"Socialization means attaining of
maturity in hsocial rel:‘:ltionships_."
This definitton of socialization is
given by wk%m?

1) John De@ey

2) Garret

3) Sorenson

4) Hurlock

[ Level-3/1311]
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1) Develop?ﬁent is the product of |

1
|
|
|
|

4
|
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1) T - feRER, STy, Hed
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P.T.O.
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46. Fill in the blank with the correct

41.

48.

49.

option:

Note it down ........... you should
forget it.

1) that 2) because of

3) till 4) lest

Choose the correct option that
gives the meaning of the given
idiom :

Spill the beans
1) increase work
2) face a greatloss

3) toleak asecret
4) segregate

Fill in the blank with the correct

_option:

The Pak army turned hostile .........

ISIS. K
1) to 2) for Q
3) at 4) with «

Choose the correc sive of the

given sentence :
Please give me sorfte more time.

1) Some more time might please
be given to me.

2) Some more time fnay please
be given to me.

3) Some more time could please
be given to him.

4) Some more time should please
be given to him.

[Level-3/1311]

50.

&

52.

N

Which of ghe following options

express thercorrect meaning of the

sentence given below ?

No sooner did I reach the college

than the bell rang.

1) The sooner I reached the
college the earlier the bell
rings. '

2) I reaclied the college and the

bell W%)‘rang after.
3) Although I reached the college
the pelitbegan to ring.

4) on as [ reached the

@ ge, the bell rang.

Change the narration :

He said, "What a charming sight !"

1) He exclaimed with joy that it
was a very charming sight.

2) He exclaimed with joy that
what a charming sight it is !

3) He told with joy that that is a
charm%r;g sight.

4) He sai%t}o me what a charming
sight it ig !

q‘

¢
Fill in the sBlank with the correct

form ofthe verb :

Qe a lot of calls today.
1) had have
2) hashad
3) have had
4) had had
P.T.O.

Ime
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53.

54.

55.

56.

o b

i

Which of the following sentences is

the correct option to express @

probable conditipn ?

1) IfIwerea bggd, I would fly to
you. :ﬁ"

2) If you touch\ live wire, you
will get a shock.

3) If you will read this book, you
will learn grammar.

4) IfIhad reached in time, I could
have saved her.

Choose the part of the sentence
that is grammatically incorrect:

He thought / he \@1 be able to do /
, AN
A e B
whatever he Wan%d / with his job.

C =4 D .

1) A 2) B K\
Choose the part o &tence
that is grammatié incprrect .

3) C 4) D
The Jews were st reluctant /

A B
to contribute / ir{ﬂme Palestinian
2 cause,
C < D
: O
1) A @) B
3 C 4) D

The word 'slither' means :
1) lick
3) hinder

4) slide

Level-3/ 1311 '::-'-':'ﬁ
evel-
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51.

58.

%

60.

1 in the plank with the corl’ectvi;

Fil
form of verb :
When I last .ooooeeemee” her, she was'
deeply involved in debt.
1) have met 2) met

‘ 4) did met

3) has met

Fill in the blank with the correct

option : :
How did the thiel ...... the padlock.
1) open O
2) opened E
3) pened e
0 d been opening _'9.
@)

ill in the blank with the correctg-
'"Modal Auxiliary':
you mind lending meE

e

your pen ? (Request) s
1) Should 2) Ought .
3) Would 4) Must -
©
Arrange the following jumblec

" options in the correct order an()

o
—

then choose the correct option :
(A) is heartening
(B) is going abroad
(C) the news

(D) that she

1) C,D,B,A LA
2) D,A,C,B %
3) D,C,B,A -
4) D,C,A,B
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Direction : Answer the following questions b

61.

62.

63.

X A 9 RR & o0 W IR feam
H ok o e w@ @ g, o
I3 99 @ Rem B '

1) T
2) Ui¥=M

3) W@
4) JACUREH

wE A 20 FE g0 @ e b e
¥ o e § qu IH g0 B AW A
Roda Rer & 2 @@ § @@ B B,
R o i A A A

1) 10 FeHr/guer
2) 12 fet/ave
3) 13 fHl /8o
4) 15 eI /AU
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y selecting the mosfgppropriate option.
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o Td SR / QUANTITATIVE APTITUDE,

o0
(@))]

61.

62.

5+

If A stands on his head with his
face towards North, in which
direction will his left hand point ?
1) North-East

2) West

3) East Ofg

4) Nort st

A @oég 20 km downstream in

o our and the same distance

@.lpstream in two hours. The speed

of the boat in still water is :
1) 10 km/h
2) 12km/h
3) 13km/h
4) 15 km/h

In a grougof 15 people, 7 read
Hindi, 8 réad English, while 3 of
them read<pone of these two. How

many of ﬁlem read Hindi and
English both ?

1) o 2) 3

3) 4 4) 5

of 5 8"

p.T.O
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64. TH F § 35 PRl H, A WO
:ﬁ%aﬁwqailaemww%{
oF M W T qu C W WM & A
SdF I A D, A C W ETAY

_ ? -
P-4 B ¢ "
o0
. o
1) odf e
2) 1081 -
3) 11af K
4) 128

65. TH RRET T W1 & 'CEG' # TSR
quT FHJ' ® 'QPO' fmar Sirr @,
T oW 9w ¥ OIRM @ R

ST ceh — 5%
1) NOP . _of@
2) NOL @ 118
3) NMK = .
<
4) NML e ¢
L

&

66. o7 EAML @ fhaw @l

o A B 7

T O
2 2 Q
3) 3

4) 4

(~.,

(¢ 9]
61. T FHafm agqof ot v oy
T ET HOGTET 7:2 B, A zg

1) 7
3 9

2) 8
4) 11
[ Level-3/1311]

L X -

In a clas
placed Tth from
whereas B is placed 9th from the

top and C s placed exactly

64.

position from Cc?
1) oth
2) 10th
3) 1lth
4) 12th

65. In a certain code language 'CEG' is

written ag™TSR' and 'FHJ' is written
as 'QP&n in the same code
lang @ o"IKM' is written as :

1 OoP

@)o NOL
3) NMK

Q

66. How many meaningful words can
be formed with the letter EAML ?
b L
2) 2 i
3) 3 et
4) 4

4) NML

61. The ratio of an interior angle to the

exterior angle of a regular polygon
is 7: 2. The number of sides of the

polygon is :
1) 7 2) 8
3) 9 H 1

s of 35 students, A is |
the bottom

between these two. What is A's .

Telegram: t.me/pgtprime



68. Frfofea @@ Y@ & ST 0E

A BT

fﬁpﬁeﬁ

1) 33 @ @@

| )

2) 34
3) 35
4) 36

69. T A &N T% & &l oTha 8 gue H,
@ B &N U IF @ A 6 gU F
T S GHAT 8l AR AN T B T
Y 2 g9¢ F [T g § geEng T
A & < & RO &N, @ 99 B @
ST & He HI QW ?
1) 2 9% H
2) 2% 99 H
3) 3§ H
4) 3% ¥ H

10.

6291 =7 TUT 74 = 81 =

I Yef H 47433 W= :
) o %)
3) 38 Q53

71. AR 17 REWR, 2002 & 9FER o,
& 22 REwR, 2004 Eﬁf Fr-ar e
qr 7

qﬁmﬁmﬁﬁﬁ%*ls—a&‘

68. Find the next term of the following
number senes

(g, 3, 10, 18, 26, ?

1) 33
2) 34
3) 5

4) 36

69. Pipe A alone can fill a tank in 8
hours. Pipe B alone can fill it in 6
hours. If both the pipes are opened
and after 2 hours pipe A is closed,

then pipe*B will fill the tank in :
[\
(00]

1) s

) ¥ hours
@ 3) & hours
4) 3% hours
70. In a certain pattern, if 38 « 15 = 32,

62 * 91 = 7 and 74 = 81 = 29, then
in the same pattern the value of

47 % 33 is:
1) 40 2) 41
3) 38 4) 583

1. If a: was Saturday on 17th
Deggmber, 2002, what was the day
on gnd December, 2004 ?

1) Sunday
2) Saturday
3) Monday
4) Tuesday

[19/A]

1) TER o @65
2) qfER L 33
§), _@,.q_a.r{ H g
4) TEER 'Y 35
[Level-3/1311] 3 ‘53 )
s3
1R

S = —~

A p.T.O.

L_-lfu.
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74, x-OTH, y-3T oYL 4x +3y =12

ﬁﬁaﬁga%a@qm% K\
1) 2 38 n:

2) 2.5 AR

3) 3 3FR

4) 4 TFR

75. 98 GI@ B8 el s &, R

16463 ¥ Sligd qF A1 ATl 107 §

oferan fersfors @i & -
-

1) 52 =

2) 55

3) 11

4) 16

:|......'=:!

72. The next 6f the series is:
71A, X2D, vV6G, T2 1]? ?

1) R8TM
2) R8IN
3) R88P
4) R88M

73. In English alphabet, the number of
letters skipped in between
adjacent letters in the series is
decreased by one. Which of the

follc&eries observes the rule ?
1 .

JOSV
DJOSW
4) DIOSU

74. The radius of the circumcircle of
the triangle made by x-axis, y-axis

and 4x+3y =12 is:

1) 2 unit
2) 2.5 unit —
3) 3 unit e
4) 4 unit

18.

be added to 15463 so that the
resulting number is
divisible by 107 :

1) 52

2) 55

3) 71

4) 716

exactly

Find the least number which must

e e

Telegram: t.me/pgtprime




11.

19.

[Level 3/1311] =

mﬁﬁg@ﬁﬁﬂ@gﬁﬁﬁw
=1 S 6w s @ g I
N W 20% F @ B 7
1) 1:5 2) 2:5
3) 3:5 4) 4:5

@ﬁf@aﬂfﬁw«;%aﬁ%aw
o T8 3 [ WG &N T4 6]
I B TG By

1) 52:51
2) 52:50
3) 51:50
4) 53:50

A6419

&

Wﬁﬁwwwwq
ReaTl 4 W8 USR] A A oI OO @
50% wgl Rem G a¥ & or H
21,600 &Y FNEH A &
wﬁ@ma&r%m%

1) 2,400 T1 0

2) 3,600 T

3) 4,000 &1

4) 4,200 59

W ol 20% BN W T ARy A
I, g g B 12 TW
o & = B ¥ 10% @ A
B S aEG HHT 0§

1) 22 59

2) 30 B9

3) 36 @

4) 40 TQ

=
>
lox}
i%
Q
Ap
Do |~
w |
a|lo

Loy

i

b

18.

Q

76.

11.

4

%

19.

[21/A]

What proportion of water must be
added to milk to gain 20% by
selling it at the cost price ?

1) 1:8 2) 2:8

3) 3:5 4) 4:5

The ratio of corﬁpound interest and
simple interest on a certain sum at
the rate of 4% per annum for 2
yearsis: '

1) 52:51

2) 52:850

3) 51:

A, B and C enter into a

partnership with shares in the ratio
7

é ﬁ . After
2°3°5

increase his share by 50%. If the
total profit at the end of one year
be Rs. 21,600, then B's share in the

profitis:

4 months, A

1) Rs. 2,400

2) Rs. 3,600 o
3) Rs. 4,000 :

4) Rs. 4,200

A man sold an article at a loss of
20%. If he sells the article for Rs. 12
more, he would have gained 10%.
The cost price of an article is :

1) Rs.22

2) Rs.30

3) Rs. 36

4) Rs. 40

P.T.O.
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80. .':z’/’+a—%'+1—€'1_Va TET 8
l-a  l++a
1) ﬁ
2) "”T"l
3) a_%
%) ﬁ%

81. Uhverys g g1 oraReq &

1) of e fore &
2) FHEEd o d

AB) IR B A
4) Y B A

82. g o w1 oF, 2023 #
Ted H e B 7

1) o9 faeag
2) ey faeg

) o g
4) Tifeq

83. AT & fr=fefed ToouRy & @
H oS A T el & 7
1) 2 g9dR
2) 4 g g8 &
3) 1 &R o=
~4) 4 g Rz dearfeg

[ Level-3/1311]

1
80. a%+a” 1-a

L

is equal to:

l-a l+va

E

1))

)
|
—

2)

v
A641987

= |

3)

o3
N
—

4)

—
[
o))

81. Historical village Sugh is located

in:
1) district

(o9) . .
uk8hetra district
]

3) amu&i;anagar district
@4) Panchffula district

82. Which Haryanvi conquered Mount
Elbrus in August, 2023 ?

1) Sandeep Bishnoi :
2) Rohtash Bishnoi
3) Ajay Khichad

4) Mohit

83. Who amoi\ the following Governors
of Haryana was an ICS officer ?
1) ShriBarma Vir
2) Shri Nfﬁzaffar Hussain Burney
3) Shri Hari Anang Barari

4) Shui Surjit Singh Sandhawalia

off B2 e

Telegram: t.me/pgtprime



g4. AdFAT KO & WeF o §Y T

2) fPyart #

. 1) A7 H
3w A 4 e A
85. Mol SEid wra%ﬁo‘ﬂ g # e
S R ? ot
1) s | o) AFish ¥
—3) ofEad § 4) HET H

g6. ERA Va1 H AR AN F T
AR BT P |

1) 4 o Hlo Iar
2) i s @de

81. @Y ey % ar ®
FRE @ 9T

() T ag H frer &
(i) IR T : R
gepterd i,

H@?agg%rauﬁ'iﬂﬁu:
1) %aawag\ué?%
2) Faq FE (fEE B
3) 7@ B el T & T 0D
& R ’
47 AR e (i) AR ) 9 B

. ‘ o L& B
[ Level-3/1311]

[23/A]

84. The evidence of Stupa of Mauryan
period is found at :

2) Bhiwani
4) Rohtak

1) Topara

3) Thanesar

85. Geeta Jayanti  Samaroh is
celebrated in the month of :
1) Kartik 2) Margshirsh
3) Ashvin 4) Shravana

86. Who is the Chief Commissioner of

Haryana Right to “Service

Com

) i Vijay Vardhan ,t',? :
@ 8) ShriRajesh Khullar -
4) Shri Vikas Gupta

87. Read the following statements
about Sadhu Nischal Das :

(i) He was a Dadu's disciple.

(ii) He compiled a book 'Vichar
Sagar' which is in form of
dialogue.

Choose the correct code :
1) Only statement (i) is correct.
2) Only statement (ii) is correct.

3) Neither statement (i) nor
statement (ii) are correct.

4) Both the statements @A) and (ii)

are correct.
pP.T.O.
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88. AT F RiERT Yo B Fol kg

g7

VALK
2) THEd
3) #=I
4) PrErt

89. BRAT TY WHFN FN T IH

R 3% Rio

1) S9ad, 1967
2) ¥R, 1966
3) =, 1980

4y SHE{, 1996

A641987

AT e

l‘n.
W
o
1
<p
©
=¥

90. sfEaem # YRdM

?

88. In Haryana, where the Chinkary

Breeding Centre is located ? |

1) Pinjore
2) Panipat
3) Jhajjar

4) Bhiwani

89. When the Haryana State Co-
operative Agriculture and Rural
Development Board Ltd. was
established ?

1) January, 1967
2) ember, 1966
ch, 1980

Q January, 1996
.

Institute of Information Technology

SEhll m@o Where in Haryana, the Indian
TS

g\

is located ?

1) e Q 1) Sonipat
2) i & 2) Panipat
3{@3@ O 3) Ambala
Y I 4) Kurukshetra

[ Level-3/1311]

A64198
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HTET PGT GEOGRAPHY Question Paper 2023

91. Match List | with List Il and select the correct answer using quotes
given below:

List | List Il
A. Primary activity i Transport
B. Secondary activity ii. Hospital
C. Tertiary activity iii.  Mining
D. Quarternary activity iv.  Manufacturing
Code:

1. A(i), B(iii), C(ii), D(iv).
2. A(iii), B(iv), C(i), D(ii).
3. A(iii), B(ii), C(i), D(iv).
4. A(i), B(iii), C(iv), D(ii).

92. The Boat Channel is referred to:
1. Barrier reef.
2. Atoll.
3. Lagoon Between fringing reef and land.
4. when a tidal boars enters into a river.

93. As per world population prospectus report 2022(UNQO) arranged the
following countries in descending order as per the total population:

A. Brazil.

B. Bangladesh.



C. Nigeria.
D. Pakistan.
CODE:

1. A, B,C,D.
2. B,CD,A.
3.D,C A, B.
4. D, A, B, C.

94. Which one of the following is not correctly matched?

Ocean/Sea Salinity(%)
1. Arctic 20 to 35.
2. Bering 28 to 33.
3. Okhotsk 30to 32.
4. Andaman 40 to'42.

95. The highest annual rangeof temperature is recorded in:
1. Taiga Region.
2. Monsoon Region.
3. Equator Region.
4. Hot Desserts.

96. As per Webber’s least cost theory the lines joining the points of
equal transport cost are called:

1. Isotime.
2. Isodopane.
3. Isotrans.

4. Isohytes.



97. The transitional stages of sequential changes from one vegetation
community to other vegetation community are called:

1. Climax vegetation.
2. climax community.
3. Sere.

4. Ecocline.

98. The frequency of tropical tide on tropic of cancer comes____ in
a synodic month.

1. 8 times.
2. 4 times.
3. Only one time.
4. 2 times.
99. In Human Development Index.report (UNDP) 2021-22 India Ranks:
1. 130.
2.131.
3.132.
4.129.
100. Which of the following factors originates the oceanic currents?
A. Rotation of the Earth.
B. Revolution of the Earth.
C. Salinity difference in oceans.
D. Density difference in oceans.

CODE:



1. A, B, C,D.
2. A C,D.
3. B,C,D.

4. CandD.

101. Recently (August 2023) Which of the following city hosted the
BRICS Summit?

1. Shanghai.
2. Johannesburg.
3. New Delhi.
4. Sao Paulo.
102. Which among the following is/are correctly matched?
A. Normal lapse rate - 3 degree F per 1000 feet.
B. Dry adiabatic change rate — 5.5.degree F per 1000 feet.
C. Wet adiabatic change rate — 3.6 degree F per 1000 feet.
CODE:

1. Only A.
2. Aand B.
3. BandC.
4. Only B.

103. which one of the following is not an industrial region of USA?
1. New England.
2. Great Khanhawa Valley.
3. Cincinnati Indianapolis.

4. Midlands.



104. “Man is a geographic agent and not a beast”. This statement was
made in favor of which thought?

1. Possibilism.

2. Determinism.

3. Neo determinism.
4. Probabilism.

105. Which of the following is considered as an interruption of the
planetary winds?

1. Westerlies of Northern Hemisphere.
2. Roaring forties.
3. Furious fifties.
4. Monsoon winds.
106. The Welland Canal connects:
1. Lake Erie and Lake Ontario.
2. Lake Superior and Lake Huron.
3. Lake Michiganiand Lake Superior.
4. Lake Huron and Lake Michigan.
107. The term “Topophila” is defined as:
1. The effective bond of human with its environment.
2. These spatial dimensions of separation of man and environment.
3. The feeling of dislike, anxiety, and fear in human.

4. Synthetic study of human society and Earth surface.



108. Which of the following is not correctly matched?

Shifting Cultivation Country/Region
1. Masole. Congo.
2. Coamile. Argentina.
3. Tavy. Medagaskar.
4. Tamrai. Thailand.

109. The Aurora-Australis phenomena take place is:
1. Stratosphere.
2. Troposphere.
3. lonosphere.
4. Mesosphere.
110. “Geography in Twentieth century” book was written by:
1. G. Taylor.
2. Carl O. Sauer.
3. Blache.
4. E.C. Semple.

111. Kiruna and Gallivare are important iron ore producing areas of
which country?

1. Brazil.
2. Sweden.
3. Poland.

4. Argentina.



112. Which of the following is not included in gold collar activities?
1. Government officials.
2. Financial and legal consultants.
3. University teaching.
4. Senior business executive.
113. The mobility transition theory was formulated by:
1. Ravanstein.
2. Zelinsky.
3. Lee.
4. Christopher.
114. Which time period is Considered.as'the Dark Age in geography?
1. 15t AD to 3™ AD.
2. 4™ AD to 14t AD.
3. 15" AD to 18" AD:
4. 5™ AD to 1%t BC.
115. Which one of the following is not correctly matched?
1. Pragmatic Possibilism — Tetham.
2. Human ecology — Hackle.
3. Probabilism — O. H. K. Spet.

4. Stop and go determinism — G. Taylor.



116. The lowest crude death rate per 1000 of population was found in
which country as per world population prospectus uno 2019?

1. Qatar.
2. UAE.
3. Bahrain.
4. Oman.
117. The Axis of European population is called:
1. 50 degree N latitude line.
2. 40 degree N latitude line.
3. 35 degree N latitude line.
4. 60 degree N latitude line.

118. Which one of the following is not'correctly matched?

Koppen’s Symbol Climate type
1. Al. Tropical rainforest.
2. AW. Savannah.
3. CA. West European.
4. CW. Mediterranean.

119. which type of settlement pattern develops along a lavee?
1. Rectangular.
2. Circular.
3. T shaped.

4. linear.



120. “Human geography is a study of changing relationship between
unresting men and the unstable Earth”. This definition was given by:

1. Retzal.

2.J. Brunhes.
3. E. C. Semple.
4. Huntington.

121. Which of the following statement is not true about black soils in
India?

1. This soil is spread in 10.6% of the total geographical area of the
country.

2. The black color of this soil is due to presence of titaniferous
magnetite.

3. This soil is highly retentive of-moisture.
4. It becomes sticky in rainy seasons.

122. The faults formed.due to horizontal displacement of rock blocks
along the fault plane.caused by horizontal movement are called:

1. Normal fault.
2. Reverse fault.
3. Strike slip fault.
4. Thrust fault.

123. Which one of the following is not correctly matched?

Satellites Planet

1. Deimos, Phobos. Neptune.

2. Ganymede, Europa. Jupiter.




3. Titan, Tethys. Saturn.

4. Miranda, Titania. Uranus.

124. Which of the following city is not situated on NH-44?
1. Jalandhar.
2. Sagar.
3. Karnool.
4. Jabalpur.

125. Match List | with List Il and select the correct-answer using quotes
given below:

List | (Slums) List Il (Place)
A. Basties . Chennai.
B. Jhuggi Jhoparies it.  Mumbai.
C. JhopurPatti iii.  Delhi.
D. Cheri iv. KolKata.
Code:

1. A(iii), B(ii), C(iv), D(i).
2. A(ii), B(iii), C(i), D(iv).
3. A(iv), B(i), C(ii), D(iii).
4. A(iv), Biii), C(ii), D(i).

126. Which among the following is not a Gondwana age coal field in
India?

1. Chirmiri.
2. Talcher.
3. Karharbari.



4. Nichahom.

127. Which one of the following is not correctly matched?

Koppen’s Symbol Climate Region (India)
1. Dfc. North Eastern Hills.
2. Et. Mountains of Himachal Pradesh.
3. As. Coromandel coast.
4. E. Laddakh.

128. In June 2023 which tropical cyclone developed in Arabian Sea and
hit Gujarat coast?

1. Amphan.
2. Tauktae.
3. Biparjoy.
4. Nisarga.

129. As per financial year 2022-23 which country was the largest
bilateral trading partnerwith.India?

1. China.
2. Britain.
3. Japan.
4. United States of America.
130. Arrange the following hills in correct S to N order:
A. Annamalai.
B. Nallamalai.

C. Shevroy.



D. Javadi.
CODE:

1. A, B,C,D.
2. A,C D,B.
3.D,C A, B.
4. A, D, C, B.

131. Which one of the following is not correctly matched?

Bird Sanctuary Location
1. Vedathangal. Chingalput.
2. Rangathittu. Trichur.
3. Keoladeo. Bharatpur
4. Nalapatti Nellur

132. As per continental theory of Wagner the opening of Tethys phase
took place due to:

1. Tidal force of Moon.
2. Tidal force of'sun.
3. Differential gravitational force and force of Buoyancy.
4. Separation of moon from the Earth.
133. Arrange the following chronological order:
A. Algoman.
B. Caledonian.
C. Alpine.

D. Harcynian.



Code:

1. A, B,C,D.
2. A,B,D,C.
3.B,D,A C.
4. B,A, D, C.

134. The East African rift valley is an example of:
1. Ocean ocean divergent plate boundaries.
2. oceanic continental divergent plate boundaries.
3. Continental convergent plate boundaries.
4. Continental divergent plate boundaries.
135. The ‘Malnad’ topography is found along
1. Dandkaranya Plateau.
2. Tamil Nadu high lands.
3. Chhota Nagpur Plateau:.
4. Karnataka Plateau.
136. The leading lin seed producing state of India is:
1. Uttar Pradesh.
2. Madhya Pradesh.
3. Maharashtra.
4. Karnataka.
137. Which of the following is not a type of rejuvenation?
1. Dynamic.

2. Eustatic.



3. Entrenched.
4, Static.

138. As per Pasco and Pilgrim the ancient Indo Brahma River discharge
its water into:

1. Bay of Bengal.
2. Persian Gulf.
3. Arabian sea.
4. Bay of Indus.

139. Which of the following is not catastrophic theory of origin of the
earth?

1. Planetesimals Hypothesis of Chamberlain and moulten.
2. Tidal hypothesis of Jeans and Jeffrey.

3. Nebular hypothesis of Laplace.

4. Nova star hypothesis.of hoyal and lytteleton.

140. As per census 2011 which of the following pair of states of India do
not have scheduled tribe population?

1. Haryana and Himachal Pradesh.
2. Punjab and Goa.
3. Haryana and Punjab.

4. Kerala and Punjab.



141. Which state of India share the longest international border with
Bangladesh?

1. Meghalaya.
2. West Bengal.
3. Tripura.

4. Mizoram.

142. As per census 2011 how many million plus cities were there in
India?

1. 49.
2.53.
3.51.
4.55.

143. Arrange the following disecontinuities in correct order from a
surface to core:

A. Gutenberg.

B. Moho.

C. Lehman.

D. Conrad.
Code:

1. A, B,C,D.
2. A C B,D.
3.D,B,A C.
4. D, C, B, A.



144. Which of the following topography is also called degradational
plains in desert?

1. Badland.
2. Bahad.

3. Pediment.
4. Playa.

145. Which iron and steel plant of the following receive iron ore from
the Dalli-rajhara mines?

1. Bokaro.
2. Bhilai.

3. Rourkela.
4. TISCO.

146. The depressions formed.due.to'melting of large blocks of ice in the
outwash plains are called:

1. Kettle.

2. Hummock.
3. Kame.

4. Sandar.

147. As per census 2011 the work participation rate was highest in
which state of India?

1. Himachal Pradesh.
2. Punjab.

3. Kerala.



4. Karnataka.
148. Tropical dry evergreen forest are found in India at:
1. Konkan coast.
2. Coromandel coast.
3. Tarai region.
4. Meghalaya plateau.
149. The Sukinda Valley is known for the production of which mineral?
1. Tungsten.
2. Nickel.
3. Bauxite.

4. Pyrite.

150. Between which countries the‘Mahakali Treaty was signed in
February 19967

1. India and China.

2. India, China;-and Nepal.
3. India and Nepal.

4. India, Bhutan, and Nepal
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